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10th Class 2018
 Groupl | Paperdl
Time: 15 Minutes |(Objective Type) | Marks: 12

Note: Four -possible answers A, B, C and D to each
question are given. The choice which you think is
correct, fill that circle in front of that question with
Marker or Pen ink in the answer-book. Cutting or
filling two or more circles will resuit in zero mark In
that question.

1-1- Night-blindness is because of deficiency of:
(a) Vitamin A v  (b) Vitamin E
(c) Vitamin C (d) Vitamin D
2- Specific heat capacity of water is:
(@) 42 KJg*K' (b) 42Jg "K'V
(c) 44KJg "K' (d) 44Jg'K
3- Which one is also called olefins:

(a) Alkanes (b) Alkenes v
(c) Alkynes (d) Alcohols
4- A disease that causes bone and tooth damage
IS:
(a) Fluorosis ¥  (b) Cholera
(c) Jaundice (d) Hepatitis
9- The colour of hydrogen iodide is:
(a) Orange (b) Purple
(c) Red (d) Colourless v

6- Depending upon temperature  variation,
atmosphere is divided into how many regions:

(a) One (b) Two
(c) Three (d) Four v
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If Q. < K, reaction proceeds:

(a) Forward vV (b) Reverse
(¢) Equilibrium (d) Both side
8. When glucose and fructose combine they

TIPS
7-

produce:
(a) Starch (b) Cellulose
(c) Sucrose v (d) None of these

3.  Which acid causes the acidity of stomach:
(a) Sulphuric acid (b) Hydrochloric acid v
(c) Nitric acid (d) Oxalic acid

10- You want to dry a gas, which one of the
following salt you will use: -

(a) NaCl (b) CaCo,
(c) CaO v (d) Na,SiO,

11- Percentage of nitrogen in urea is:
(a) 36.6 % (b) 46.6 % V
(c) 56.6 % (d) 66.6 %

12-  Which one of the following is not a fossil fﬁel: '
(a) Biogas v (b) Coal
(c) Natural gas (d) Petroleum
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(Part-l)

; write short answers to any FIVE (5) questions: 10
[ What is meant by active mass? Also write its

, L unit.
[ The term active mass represents the concentration

. mol dm~® of reactants and products.

Active mass concentration = _l\_l_t_Jm___be_[_gf_rgg_le_s_ uidll
= Volumeindm? V

Generally, an active mass is considered as the molar

concentration in units of mol dm~,
(i) Whatis meant by reversible reactions?

X A reaction in which the products can recombine to
form reactants are called reversible reaction. These

reactions never go to completion. These are represented
by a double arrow (=) between reactants and

products.
(iii) Write down chemical equilibrium state.

XD When the rate of forward reaction takes place at the
rate of reverse reaction, the composition of the reaction

‘mixture remains constant, it is called a chemical
equilibrium state. |
(iv) Define law of mass action.

LU This law states that “The rate at which a substance
reacts is directly proportional to its active mass and the
rate of reaction is directly proportional to the product of
active masses of the reacting substances.’

(v)  Write two important properties of salts.

Ans g Following are two properties of salits:
1.  Salts are ionic compounds found in crystalline form.
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eing and boiling points.
f sulphuric acid.
uses of sulphuric acid:
facture fertilizers,

calcium superphosphate,

electrolyte in lead storage

batteries.
(vii) State Arrhenius concept of a

[X» According to Arrhenius concept:
Acid is a substance which dissociat

solution to give hydrogen ions. .
On the other hand, base is a substance which =

dissociates in aqueous solution to give hydroxide ions.

(viii) Define adduct.
[X® The product of any Lewis acid base reaction is a

single specie called adduct.
2 Write short answers to any FIVE (5) questions: 10

cids and bases.

es in agqueous

(i)  Define carbonization.
XD Conversion of wood into coal is called carbonization.

It is a very slow bio-chemical process.
(ii)  Write the name of four different types of coal
LYB>» Following are the name of four different types of coal:

1. Peat 2. Lignite Y ity
- 3. Bitum
4. Anthracite A

(ili)  Define alcoholic group with one example

XD The functi
unctional group of alc |
_ ohol is -O -
general formula is ROH, where R is any alkyl grouI: Their
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le:
gxamPp CcH,~OH
Methyl alcohol :
what is the difference between alkenes and

(iV) alkyneS?

The compounds in
which carbon atoms
are linked by a triple
bond are called

which  two carbon
atoms are linked by a
double bond are called

alkynes.
9 e.d., HC = CH
(Ethene) ~ (Ethyne)
o Their function groupis [ 2. Their function group is
z >C = C:: e G

(vy Define process of hydrogenation with an

| example.
[¥D The addition of molecular hydrogen in alkenes
and alkynes is called hydrogenation. The

hydrogenation occurs in the presence of nickel catalyst
at 250°C — 300°C. However, in the presence of catalyst
platinum or palladium, the reaction takes place at room

temperature e.g.,

H,C = CHy + Ho —25%—3;0%—) HiC — CH3;
(vi) What is the difference between oil and ghee?
XD Oils exist in liquid form at room temperature. They

are triglycerides of unsaturated fatty acids.
While fats or ghee exist in solid form at room

- temperature. They are triglycerides of saturated fatty

acids.
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protein, gdive op

otein is amino acid. When
lymerize they form protein,

0
2 . ('% NH |-CH-COOH
H,,N—CH—COOH+HNH-—CH-—COOH———-—>H2N (|3 -C- I
R (Dehydration) (Peptide linkage)

(viii) Write the nameé ¢
deficiency of vitamin A.

ITD Diseases caused by the deficiency of vitamin A are |
night-blindness and eye inflammation. -.

_________—_———-——-————_-_—-—-—_—_._.\ |
4 Write short answers to any FIVE (5) questions: 10 |
. I

(i) Name the major constituents of troposphere.

XD The major constituents of the troposphere are
nittogen and oxygen gases. These two gases comprise |

99% by volume of the Earth's atmosphere. _;
(ii) Write four natural systems of our earth (only

names).
LYD Our planet, the Earth, has four natural systems:
1. Lithosphere 2. Hydrosphere
3. Atmosphere 4. Biosphere

(i) Why CO, is called a greenhouse gas?

LID Greenhouse effect is proportional to amount of CO,
in air. Greater is amount of CO,,, more is trapping of heat
or warming. This is why, CO, is called greenhouse gas.
(iv)  Mention the disadvantages of detergents.

,m Following are the disadvantages of detergents:

1. Some of the detergents are non-biodegradable.
When household water containing these detergents
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| causes water pollution.

)| The detergent remains in the water for a long time
and makes the water unfit for aquatic life.

W) How water-borne diseases can be prevented?

@ Water-borne diseases can be prevented by taking
the following measures:
1. Provision of safe water

2. Disposal of sewage
3. Control of toxic chemicals

vi) Write two advantages of Solvay’s process.
B Following are two of the advantages of Solvay's

- prOCeSS are:
(i) It is a cheap process The material reqmred for this

process Is available at low price.

‘(i) In this process, CO, and ammonia are recovered
and re-used.

(vii) Define petroleum and crude oil.

LD petroleum: |
Petroleum is a natural ‘product found under the

i Earth’s crust trapped in rocks. Petroleum means rock oiI.

Crude oil:
When a decomposition process took place in the

absence of air because of high pressure, temperature and
bacterial effects. Process took millions of year for completion.
Thus remains of dead plants and animals were converted into

a dark brownish viscous oil, which is called crude oll.




power Of coefficient a

chemical equation.
Predicting Extent of a Reaction: hd
Numerical value of the equilibrium constant predicts |

the extent of a reaction. It indicates to which extent
reactants are converted to products. _

In general, there are three possibilities of predicting’
extent of reactions as explained below: |
(a) Large numerical value of K :

”The large value of K indicates that at equilibrium '.
position, the reaction mixture consists of almost all
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( gmall numerical value of K,:
I when the KG value of reaction is small, it indicates

i that the equilibrium has established with a very small
conversion of reactants to products. At equilibrium
osition, _almost‘ all reactants are present but amount of
products IS negligible. Such type of reactions never go to
completion. For example:

eNHyo) &=——= N, , #+3H,, K. ,=3.0x10°
(c) Numerical value of K_is neither small nor large:

| Such reactions have comparable amounts of
| reactants and products at equilibrium position. For

N example:
—————A

0 It iIndicates that the rates of decomposition of N,O,
and combination of NO to form N,O, are almost
comparable to each other. ‘

(b) Write down the four uses of bases. (4)

Ans Following are the four uses of bases:
, () Sodium hydroxide is used for manufacturing of soap.
. (i) Calcium hydroxide is used for ‘manufacturing - of
bleaching powder, softening of hard water and
neutralizing acidic soil and lakes due to acid rain.

(i) Potassium hydroxide is used in alkaline batteries.
(iv) Magnesium hydroxide is used as a base to
neutralize acidity in the stomach. It is also used for
- the treatment of bee’s stings. _

' Q.6.(a) Write down five physical properties of alkenes. (5)

m Following are the five physical properties of alkenes:
(i) The first member of the alkenes is ethene. It is a

colourless gas with pleasant odour.
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ar, therefore, they are Insolublg 1

anic solvents. !
series, ethene, IS slightly i
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(ii) Alkenes areé nonpo '
in water but soluble In Org

The first member of the

less dense than air.
Alkenes are flammable

combustion, they form C
with release of energy. |
smokier than alkanes having a simil

carbon atoms.
(v)  Their melting and boiling points gradually Increase -

with the increase of molecular sizes of the

(b) Write a note on Deoxyribonucleic acid (DNA). (4) |

XD peoxyribonucleic Acid (DNA):
DNA consists of deoxyribose sugar. Its structure was

discovered by J. Watson and F. Crick in 1953. It is long
dou!ole stranded molecule consisting of two chains. Each :
chain is made up of sugar, phosphate and a base. The
sug_ar and phosphate groups make the backbone of the '
chains and two chains are linked through bases. The ‘-

chains are wrapped _ :
form. rapped around each other in a C!ouble helix |

(i 1
hydrocarbons. On complete
arbon dioxide and water
However, their flame is

ar number of
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tion of the double helix formation of pNA IS

. o ens
1o disorder takes place. by

DNA carries genes th
' at
. goﬂtro's the synthesis of RNA. Errors Introduced into the

oS synthesize‘ faulty RNA. It synthesizes faulty proteins
do not function the way they are

that e supposed to. This
| jisorder causes genetic diseases.
/———'—\_‘—

, Concentration of Ore:

The process of removal of gangue from the ore is

technically known as concentration and the purified ore is
called the concentrate.

Following processes are involved in the
- concentration of crushed ore: |

(i)  Gravity separation:

It is based on the differences in densities of the
metallic ore and the gangue particles. In this process,
powdered heavy metal bearing ore settles down on
agitation in a stream of water. While the lighter gangue
particles are carried away by water.

Water

--------------------------------

Water o e

Fig. Gravity separation.
i) Froth flotatign process: _
" In this process, the ore particles are preferentially
wetted by oil and the gangue particles by the water. The
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Fig. Froth flotation process. |

Write two methods for removal of per-manentf‘
hardness of water. ' (4)

X For Answer see Paper 2016 (Group-ll), Q.8.(a).

(b)




